B} : @n PARTS INFORMATION FOR:
Léj o 252°™ ™| £ 50R & BENCH MOUNTED METAL BENDERS
TOOLS ,oeivoss PBF04 & PBB04

Issue No: 1
Issue Date 16/10/03
Item Part No. Description Item Part No. Description Item Part No. Description
1 PBF04.01 Spacer, |00p 11 PBF04.11 Support, block 20 PBF04.20 Stand (ﬂOOI’)
2 PBF04.02 Bolt, 3/8” x 4 1/8” 12 PBF04.12 Bolt, 3/8” x 1 1/4” PBB04.20 Stand (bench)
3 PBF04.03 Washer, flat 3/8” 13 PBF04.13 Stop, adjustable 21 PBF04.21 Die 17
4 PBF04.04 Ring assembly 14 PBF04.14 Stop, fixed 22 PBF04.22 Die 1 1/4”
5 PBF04.05 Bolt, flat head 3/8” 15 PBF04.15 Hitch pin, short 23 PBF04.23 Die 1 1/2”
6 PBF04.06 Spacer,ring 16 PBF04.16 Arm, handle extension 24 PBF04.24 Die 1 3/4”
7 PBF04.07 Washer, lock 3/8” 17 PBF04.17 Pin, handle, with hairclip 25 PBF04.25 Die 27
8 PBF04.08 Nut, 3/8” 18 PBF04.18 Handle 26 PBF04.26 Die 2 1/2”
9 PBF04.09 Hitch pin, long 19 PBF04.19 Sharp bend attachment 27 PBF04.27 Die 3”
10 PBF04.10  Stop block

T e e @vmmw B
TOOLS gy $t. Edmunds, Suffolk. 01284 703534 sales@sealey.co.uk




